
pl

MORE
DERIVATIVES qq.su#nre==• PRACTICE  APPLYING  THE  POWER RULE

( APPHCAAON (5) OF POWER RULE) •  PRACTICE  COMPUTING  DERIVATIVES  usinb  Races  ej Properties

Ex . ( More Power Ruueprauxe )
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THE REVENUE  IN  DOLLARS OF
"
CAT CANDY SHOP
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WHERE g DENOTES  THE # OF Candies  PRODUCED ( in  Thousands )
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( i ) DETERMINE THE REVENUE  WHEN 125,000 units ARE PRODUCED.
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(II) DO  THE SAME FOR THE  MARGINAL REVENUE  WHEN 125,000 UNITS ARE  PRODUCED .

( III) CAN  YOU  USE  THIS  TO  ESTIMATE  THE REVENUE  WHEN 126,000  UNITS ARE PRODUCED ?

• REVENUE  WHEN 125,000 UNITS ARE PRODUCED  IS just 121125 )

RU 251=1000 . ( 125J -34255  
= 15178,1-25-1

• MARGINAL REVENUE  WHEN 125,000 UNLB ARE PRODUCED IS RK 125 )

SO  WE NEED TO FIND Rfq) .
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MEAN ?

ftp.#q. so 12111251=1000-6425 )=§250/tr#saN|

INTERPRETATION :  IF 125,000  Units  ARE  SOLD
,  THEN  THE REVENUE  15 $78,125.

IF AN ADDITIONAL 1,000  UNIB ARE  SOLD
,

THE REVENUE  INCREASES  BY ABOUT  $250
.
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( iv ) WHEN IS THE REVENUE OF CAT CANDY SHOP INCREASING ? WHEN  Is  THE MARGINAL
.
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So  WE  NEED  TO SOLVE 1000 - 6g > 0 FOR of .
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S0FAR_: WE CAN  TAKE  DERIVATIVES OF FUNCDONS THAT  WE CAN  WRITE As  X  TO  A  POWER

. . .
 WHAT ABOUT  OTHER FUNUTONS ? ( THERE ARE AIOT OF OTHER FUNCAONSD

WHAT IF 1 WANT TO FIND d¥(e×) ? Notice THAT 1 'll HAVE A REALLY HARD TIME REWRMNG e×

AS A POWER OF  X.
. .

 SO WE CAN'T USE THE PRODUCT RULE HERE . LETS Try USING AVG .  RATE  OF CHANGE .
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DERIVATIVE RULE :

of ( ex ) = ex ! Equivalently ... IF ftxkex ,
THEN fkxke ?

DERNANVERULE :

da ( ax) = ( aha )) . ax ! EQUIVALENTLY
... IF FCXHAYTAEN fkxklnaoix


